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MULTI-DIGIT MULTIPLICATION
T H E   L A T T I C E   M E T H O D

Example:

How does it work?
Draw a grid with diagonal lines that extend past the grid. Next, arrange the factors along the top and 

right side of the grid. Then multiply the numbers that meet in each space on the grid.The tens and ones 
are split on either side of the diagonal line. Continue multiplying for each space on the grid. Add using 
diagonal rows, and write the sum of each diagonal row along the left side and bottom of the grid. If the 

sum is a 2-digit number carry the tens digit to the next diagonal row.

Step 1: Set up the grid

Step 2: Multiply the numbers that meet in 
each space on the grid.The tens and ones 
are split on either side of the diagonal line.  Step 3:  Add using diagonal rows, and write the sum of 

each diagonal row along the left side and bottom of the 
grid. 

Step 5:  Record the solution  
Step 4: If the sum is a 2-digit number carry 
the tens digit to the next diagonal row.





DIVISION
STRATEGIES

Short Division
Line and Dot Strategy

Division Lattice Method
Division Box Method

 







D  I  V  I  S  I  O  N
LINE AND DOT STRATEGY 

Example:

How does it work?
Set up the problem and skip count by the divisor on the side. Skip count by the divisor by until you reach the 
digit inside the division box. Each time you say a multiple, draw a line. If you can’t say the next multiple 
without going over draw dot until you reach the inside number. Count the number of dots and carry over to 
the next digit to create a new number. Count the number of lines under each digit and write that in the 
quotient. Any dots at the end of the problem will be the remainder. 

Step 1: Set up the problem and skip count 
by the divisor on the side.

Step 2:  Skip count by the divisor by until 
you reach the digit inside the division box. 
Each time you say a multiple, draw a line. 
If you can’t say the next multiple without 
going over draw dot until you reach the 
inside number.

Step 3:   Count the number of dots and 
carry over to the next digit to create a new 
number. 

Step 5:  Record the solution  

Step 4: Count the number of lines under 
each digit and write that in the quotient. 
Any dots at the end of the problem will be 
the remainder. 



D  I  V  I  S  I  O  N
LATTICE METHOD

Example:

How does it work?
Draw a Step down grid with diagonal lines. Next, arrange the dividend along the top and the divisor to 
the left side of the grid. Divide the numbers that meet in the top space on the grid.The tens and ones are 

split on either side of the diagonal line.  Circle the new number created and then divide that by the divisor on 
the left of the grid.  Continue to divide the remaining grid numbers. Record the solution. 

Step 1: Set up the grid.

Step 2: Divide the numbers that meet in 
the top space on the grid.The tens and 
ones are split on either side of the diagonal 
line.  Step 3:  Circle the new number created and then 

divide that by the divisor on the left of the grid.  

Step 5:  Record the solution  

Step 4: Repeat steps 2 and 3 until you reach 
the end of the grid. 

837 ÷  6 = 

837÷ 6 = 139 r3

←Remainder  



D  I  V  I  S  I  O  N
BOX METHOD

Example:  

How does it work?
Set up the boxes and and write the multiplication facts that link with the divisor.  Use the facts on the side to 
find the closest product to the number. Write the factor that is not the divisor in the quotient place and 
subtract the product. Carry the difference to the next box to create a new number. Repeat Step 2 for the 
remaining boxes. The difference in the final box is the remainder. 

Step 1: Set up the boxes and and write the 
multiplication facts that link with the 
divisor.  

Step 2: Use the facts 
on the side to find the 
closest product to the 
number. Write the 
factor that is not the 
divisor in the quotient 
place and subtract the 
product. Carry the 
difference to the next 
box to create a new 
number. 

Step 3:  Repeat Step 2 
for the remaining 
boxes. The difference 
in the final box is the 
remainder. 


